Spiderman Loci
Spiderman needs to know all the areas that he can be in to avoid the various perils before him.

[bookmark: _GoBack]Situation 1 – In a warehouse
[image: ]
[image: ]


Situation 2 – Avoiding the stings
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Situation 3 – Industrial complex
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Spidey has to bisect Scorpion and Scorpia
to avoid both their stings.
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Spidey has to avoid The Green Goblin who
is patrolling 1 metre around the outside
of the warehouse and Doctor Octopus 2

whose tentacles reach 3 metres.
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Doctor Octopus' tentacles reach 4 metres.
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